Merchandising Plan – Healthy Smart Mart™

(V1)

Candies

Dentyne Ice Peppermint Gum, \$8.49 / 12 = .71 each

Hershey's Chocolate Variety Pack, \$17.99 / 30 = .60 each

Hot Tamales Fierce Cinnamon, \$10.49 / 12 = .87 each

Kirkland All Chocolate Fun Size Variety Pieces \$15.99 / 150 = .11 each

M&M Mars Candy Variety Pack, \$18.29 / 30 = .61 each

Mike & Driginal Fruits, \$10.49 / 12 = .87 each

Skittles Originals Packs, \$19.99 / 36 = .55 each

Snickers Candy Bars, \$29.99 / 48 = .62 each

Tootsie Pops Assorted, \$8.79 / 100 = .09 each

Trident Bubblegum, \$7.49 / 15 = .50 each

Trident White Peppermint Gum, \$8.49 / 12 = .71 each

Twix Caramel Cookie Bar, \$21.99 / 36 = .61 each

Wrigley's Doublemint Gum, \$7.89 / 12 = .66 each

Pastries, Bread, Cakes and Cookies

Bon Appetit Apple Danish, \$6.49 / 6 = 1.08 each

Bon Appetit Banana Bread, \$6.49 / 6 = 1.08 each

Bon Appetit Banana Nut Muffins, \$6.49 / 6 = 1.08 each

Bon Appetit Bear Claw, \$6.49 / 6 = 1.08 each

Bon Appetit Cheese Berries Danish, \$6.49 / 6 = 1.08 each

Bon Appetit Cheese Cake, \$6.49 / 6 = 1.08 each

Bon Appetit Cheese Coffee Cake, \$6.49 / 6 = 1.08 each

Bon Appetit Cheese, Apple & Berry Croissant, \$6.49 / 6 = 1.08 each

Bon Appetit Chocolate Chip Muffins, \$6.49 / 6 = 1.08 each

Bon Appetit Chocolate Donuts, \$8.79 / 8 = 1.10 each

Bon Appetit Crumb Donuts, \$8.79 / 8 = 1.10 each

Bon Appetit Danish Variety, \$12.99 / 24 = .54 each

Bon Appetit Marble Cake, \$6.49 / 6 = 1.08 each

Bon Appetit Pound Cake, \$6.49 / 6 = 1.08 each

Bon Appetit Powdered Donuts, \$8.79 / 8 = 1.10 each

Bon Appetit Super Cinnamon Roll, \$6.49 / 6 = 1.08 each

Chips Ahoy Chocolate Chip Cookies, \$5.39 / 12 = .45 each

Cloverhill Cream Cheese Danish, \$6.98 / 12 = .58 each

Cloverhill Danishes Variety Pack, \$8.98 / 16 = .56 each

Delici Imported Sea Salt Caramel Dessert Cups, \$8.99 / 6 = 1.50 each

Dessert Italiano Tiramisu' Dessert Glasses, \$?? / 6 = ?? each

Entemann's Little Bites Muffins Blueberry, \$8.98 / 20 = .45 each

Entemann's Little Bites Muffins Chocolate Chip \$8.98 / 20 = .45 each

Entemann's Little Bites Muffins Party Cake, \$8.98 / 20 = .45 each Famous Amos Chocolate Chip Cookies \$9.99 / 42 = .24 each Grandma's Variety Pack Cookies, \$5.99 / 33 = .19 each Hello Panda Chocolate Crème Filled Cookie, \$7.99 / 32 = .25 each Hostess Coffee Cake, \$8.38 / 32 = .26 each Lenny and Larry's Protein Cookie, \$14.79 / 20 = .74 each M&M'S Bite Size Cookies, \$9.95 / 30 = .34 each Mrs. Freshley's Chocolate Cupcake 2/PK, \$5.98 / 12PK = .50 each Oreo Sandwich Cookies, \$8.99 / 30 = .30 each Otis Spunkmeyer Seasonal Muffins, \$8.38 / 15 = .56 each Pepperidge Farm Milano Dark Chocolate Cookies, \$8.99 / 30 = .30 each Svenhard's Variety Danish, \$11.78 / 30 = .39 each Uncle Wally's Bake Shoppe Muffins, \$??

Snacks

Act II Butter Lovers Popcorn, \$7.98 / 30 = .27 each
Austin Crackers Toasty Peanut Butter, \$5.99 / 45 = .13 each
Autumn's Gold Paleo Bar, \$16.99 / 16 = 1.07 each
BelVita Blueberry Breakfast Biscuit, \$12.69 / 30PK 4 bar = .43 each
BelVita Breakfast Biscuit, \$12.69 / 30PK 4 bar = .43 each
Blue Diamond Smokehouse Almonds, \$9.69 / 12 = .81 each
Blue Diamond Whole Natural Almonds, \$9.69 / 12 = .81 each
Bobos Oat Bars Variety Pack, \$16.99 / 12 = 1.42 each
Caveman Paleo Protein Bars, \$14.97 / 20 = .75 each
Cheez-It Variety Pack, \$11.69 / 45 = .26 each
Clif Nut Butter Filled Variety Pack, \$17.39 / 16 = 1.09 each
Clif Bar Variety Pack, \$19.89 / 24 = .83 each
Cornnuts BBQ Flavor, \$7.99 / 18 = .45 each

Cornnuts Chile Picante, \$7.99 / 18 = .45 each Cornnuts Original, \$7.99 / 18 = .45 each

Cornnuts Ranch, \$7.99 / 18 = .45 each

Cornnuts Variety Pack, \$9.69 / 24 = .41 each

David Pumpkin Seeds, \$11.99 / 12 = 1.00 each

David Sunflower Seeds, \$7.99 / 24 = .34 each

El Sabroso Hot & El Sab

Frito Lay Bold Mix Variety Chips, \$13.89 / 50 = .28 each

Frito Lay Classic Variety, \$13.99 / 54 = .26 each

Frito Lay Fun Flavor Mix Variety, \$13.99 / 54 = .26 each

Frito Lay Oven Baked Variety Chips, \$13.49 / 30 = .45 each

Frito Lay Smart Snacks Mix Bus, \$10.99 / 30 = .37 each.

Gardetto's Snack Mix Bags, \$12.49 / 42 = .30 each

GO GO Squeeze Organic Applesauce Variety Pouches, \$14.89 / 28 = .54 each

Hawaiian Kettle Style Potato Chips Variety, \$13.99 / 30 = .47 each

Health Warrior Organic Pumpkin Seed Bars, \$16.99 / 18 = .95 each

Hillshire Small Plates Cheese and Salame Packs, \$7.99 / 4 = 2.00 each

Hostess Ding Dongs & Dongs & Twinkie, \$6.98 / 32 = .22 each

Jack Link's Beef & Dack, \$14.89 / 16 = .93 each

Jack Link's Beef Steak Original, \$11.19 / 12 = .94 each

Jack Link's Beef Steak Peppered, \$11.19 / 12 = .94 each

Jack Link's Beef Steak Teriyaki, \$11.19 / 12 = .94 each

Jack Link's Original Beef Sticks, \$11.99 / 20 = .60 each

Kar's Trail Mix Variety Pack, \$8.54 / 24 = .37 each

Keebler Variety Snacks, \$?? / 45 = ?? each

Kellogg's Nutri-Grain Cereal Bar Variety, \$7.89 / 48 = .17 each

Kind Bar Variety W/Out Peanuts, \$19.69 / 20 = .99 each

Kirkland Signature Nut Bars, \$15.99 / 30 = .54 each

Kirkland Signature Organic Roasted Seaweed Snack, \$8.99 / 10 = .90 each

Kirkland Signature Protein Bar Variety Pack, \$17.99 / 20 = .90 each

Kirkland Signature Snacking Nuts Variety, \$15.99 / 30 = .53 each

Larabar Variety Bars, \$13.79 / 20 = .69 each

Made Good Organic Granola Minis Variety Pouch, \$9.89 / 20 = .50 each

Mamma Chia Organic Chia Squeeze-Blackberry, \$9.99 / 12 = .84 each

Nabisco Mini Bites Variety Pack, 9.99 / 40 = .25 each

Nature Valley Almond Butter Biscuits, \$8.69 / 30 = .29 each

Nature Valley Bars Oats & Dats & Honey, \$11.75 / 49PK = .24 / pack

Nature Valley Peanut Bars Sweet & Salty, \$12.79 / 48 = .27 each

Nature Valley Protein PB/Dark Chocolate Bars, \$9.95 / 30 = .34 each

Nature Valley Trail Mix Bar Fruit & Samp; Nut, \$11.55 / 48 = .24 each

Nature's Bakery Fig Bar Variety, \$10.99 / 36 = .32 each

Oberto Original Beef Jerky, \$19.99 / 12 = 1.67 each

Organic Annies Bunny Snacks Variety \$11.99 / 36 = .34 each

Pepperidge Farm Goldfish Crackers, \$9.65 / 45 = .22 each

Pirate's Booty Aged White Cheddar, \$9.99 / 40 = .25 each

Planters Honey Roasted Peanuts, \$5.79 / 18 = .33 each

Planters Salted Cashews, \$15.99 / 18 = .89 each

Planters Salted Peanut Nuts On The Go, \$6.99 / 48 = .15 each

Planters Salted Peanuts, \$6.89 / 15 = .46 each

Planters Variety Pack, \$9.99 / 24 = .42 each

Popchips Ridges Variety Pack, \$12.39 / 30 = .42 each

Premier Nutrition 20G Protein Bar Variety Pack, \$17.99 / 18 = 1.00 each

Pringles Original, \$5.59 / 12 = .47 each

Pringles Sour Cream & Donion, \$5.59 / 12 = .47 each

Pringles Variety Grab N Go, \$14.99 / 36 = .42 each

Pure Organic Crispy Ancient Grain Bars, \$15.99 / 18 = .89 each

Pure Protein Variety Bar, \$19.35 / 21 = .93 each

Quaker Chewy Granola Bars, \$8.95 / 60 = .15 each Rhythm Superfoods Organic Roasted Kale \$7.99 / 6 = 1.34 each RXBAR Variety Pack, \$19.99 / 16 = 1.25 each

Sabra Dipping Co. Hummus Snackers, \$7.95 / 6 = 1.33 each Sabra Grab & Dipping Co. Hummus & Di

Foods

Belgioioso Provolone Salame Rolls, \$9.99 / 12 = .84 each Daphne's California Greek Gyro Kit, \$9.89, makes 5 Gyros Hershey 2% Chocolate Milk Cartons, \$9.99 / 21 = .48 each Joan's Broccoli Madness Salad (2 salads), \$8.99 / 2 = 4.50 each Kellogg's Cereal Mini Boxes, \$8.99 / 30 = .30 each Kellogg's Strawberry Pop-Tarts, \$6.99 / 18 = .39 each Kirkland Croissant Sandwich Platter, \$32.99 Kirkland Meat & Drtilla Roll-ups Platter, \$32.99 Kirkland Signature Fruit & Organic Pouches, \$10.79 / 24 = .45 each Kirkland Signature Organic 2% Chocolate Milk, \$15.99 / 24 = .67 each Kirkland Signature Organic Apple Sauce Pouches, \$9.99 / 24 = .42 each Kirkland Signature Complete Nutrition Chocolate Shake, \$26.99 / 32 = .85 each Kirkland Signature Complete Nutrition Vanilla Shake, \$26.99 / 32 = .85 each Kraft Foods Mac N Cheese Cups, \$6.25 / 12 = .52 each Minsley Organic Brown Rice Bowl, \$5.69 / 6 = .95 each Muscle Milk Light Protein Chocolate Shake, \$14.99 / 18 = .84 each Muscle Milk Light Protein Chocolate Shake, \$19.99 / 18 = 1.11 each N'Joy Gourmet Oatmeal Kit, \$10.99 / 8 = 1.37 each Nong Shim Hot & Spicy Bowl, \$9.99 / 18 = .56 each Nongshim Hot & Spicy Soup Bowls, \$9.99 / 18 = .55 each Nongshim Kimchi Bowls, \$14.99 / 18 = .83 each Okami Gochujang ABF Chicken Soba Salad, \$7.99 / 2 = 4.00 each Orgain Plant Protein Chocolate Shake, \$19.99 / 18 = 1.11 each Oscar Mayer Lunchables 3 Ham & Damp; 3 Turkey Packs, \$6.89 / 6 = 1.15 each Oscar Mayer Lunchables 3 Pizza & Dizza Oscar Mayer Lunchables Ham & Durkey Variety Packs, \$6.99 / 4 = 1.75 each Phonomenal Beef Pho Noodle Bowls, \$6.99 / 6 = 1.16 each

Pop-Tarts Brown Sugar & Ennamon, \$6.99 / 18 = .39 each Premier Nutrition Chocolate Shakes, \$26.99 / 18 = 1.50 each Premier Nutrition Vanilla Shakes, \$26.99 / 18 = 1.50 each Quaker Instant Oatmeal Packets - Variety, \$8.99 / 52 = .17 each

Rhythm Superfoods Organic Roasted Kale \$7.99 / 6 = 1.34 each Simply Fresh Deluxe ABF Chicken BLT Salad \$6.99 / 2PK = 3.50 each Simply Fresh Organic Chicken Santa FE Salad \$6.99 / 2PK = 3.50 each Simply Fresh Organic Salad w/ Chicken, Blueberry, Walnut & Each Simply Fresh Organic Salad w/ Chicken, Blueberry, Walnut & Each Simply Fresh Organic Salad w/ Chicken, Blueberry, Walnut & Each Salad Sal

Drinks

5-Hour Energy Drinks Extra Strength Berry, \$37.99 / 24 = 1.59 each

5-Hour Energy Drinks Extra Strength Blue Raspberry, \$37.99 / 24 = 1.59 each

5-Hour Energy Drinks Extra Strength Grape, \$37.99 / 24 = 1.59 each

5-Hour Energy Drinks Orange, \$30.99 / 24 = 1.30 each

5-Hour Energy Drinks Pomegranate, \$30.99 / 24 = 1.30 each

5-Hour Energy Tea – Peach, \$30.99 / 24 = 1.30 each

Arizona Green Tea Bottles, \$10.95 / 24 = .46 each

BAI 5 Lemonade Variety Pack Sunrise Infusion Bottles, \$14.89 / 15 = 1.00 each

BAI Antioxidant Infusion Drink, \$14.85 / 15 = .99 each

BAI Variety Pack Antioxidant Cocofusion Bottles, \$19.99 / 15 = 1.34 each

BAI Variety Pack Antioxidant Supertea Bottles, \$19.99 / 15 = 1.34 each

Coca Cola Classic Cans, \$10.49 / 35 = .30 each

Coca Cola Coke Zero Sugar Cans, \$10.49 / 35 = .30 each

Capri Sun 10% Juice Variety Pack, \$6.85 / 40 = .18 each

Diet Coke Cans, \$10.49 / 35 = .30 each

Diet Dr. Pepper Cans, \$7.85 / 36 = .22 each

Dr. Pepper Cans, \$7.85 / 36 = .22 each

Gatorade Allstar Berry Variety, \$12.99 / 28 = .47 each

Gatorade Fierce Variety Pack, \$15.99 / 35 = .46 each

Gatorade Frost Variety Pack, \$15.99 / 35 = .46 each

Glaceau Vitamin Water Zero, \$11.95 / 20 = .60 each

ITO EN Oi Ocha Green Tea Bottles, \$13.99 / 12 = 1.17 each

Kern's Nectar Variety Pack Cans, \$11.69 / 30 = .39 each

Kirkland Signature Cold Brew Coffee, \$13.99 / 12 = 1.17 each

Kirkland Signature Diet Green Tea Bottles, \$8.49 / 35 = .25 each

Kirkland Signature Extra Strength Energy Shot Variety, \$30.99 / 48 = .65 each

Kirkland Signature Organic 100% Juice Variety, \$12.69 / 40 = .32 each

Kirkland Signature Organic Coconut Water, \$9.99 / 12 = .84 each

La Croix Curate Variety Pack, \$9.49 / 24 = .40 each La Croix Sparkling Citrus Variety, \$7.49 / 24 = .32 each Monster Energy Drink Cans, \$31.95 / 24 = 1.34 each Monster Zero Ultra Cans, \$31.95 / 24 = 1.34 each Mountain Dew Cans, \$9.95 / 36 = .28 each

Naked Juice Smoothie Variety Pack, \$13.95 / 12 = 1.17 each Pepsi Cola Cans, \$9.95 / 36 = .28 each Premier Clear Protein Peach Drink, \$19.99 / 12 = 1.67 each Propel Zero Fitness Water Variety, \$9.85 / 24 = .41 each Red Bull Energy Drink Cans, \$31.95 / 24 = 1.34 each Red Bull Sugar Free Cans, \$31.95 / 24 = 1.34 each San Pellegrino Essenze Variety, \$14.99 / 24 = .63 each Sparkling Ice Variety Drink, \$10.95 / 18 = .61 each Sprite Cans, \$10.49 / 35 = .30 each Starbucks Mocha Frappuccino Chilled Coffee, \$16.55 / 15 = 1.11 each Suja Essentials Organic Uber Greens Drink, \$11.59 / 6 = 1.94 each Sunny Delight Sport Cap Drink, \$7.69 / 30 = .26 each Tazo Organic Green Tea Bottles, \$12.49 / 12 = 1.04 each Third Street Organic Black Peach Tea Bottles, \$13.99 / 12 = 1.17 each V-8 100% Vegetable Juice Cans, \$18.65 / 48 = .39 each Vita Coco Coconut Water, \$14.99 / 18 = .84 each Zipfizz Orange Pack, 11.99 / 12 = 1.00 each Zipfizz Variety Pack, \$27.99 / 30 = .94 each

Personal and Pharmaceuticals

Advil Gel Tablets, \$4.99 / 6 Pk = .83 each
Excedrin Extra Strength Caplets Dispenser, \$8.99 / 30 = .30 each
Pepto Bismol Chewables, \$8.99 / 30 = .30 each
Tums Regular Strength Peppermint Single Roll Pack, \$6.39 / 12 = .53 each
Tylenol Extra Strength Caplets Packs, \$5.89 / 6 = .98 each